FaIfRR — _EBCERIAR MRS (6)

—, EH —E,
1. 15 B ( ) AR C ) AN 3T AMEEKE ( ) s
9 Bify ( ) AN 1 HyRTHERZ ( )
14 i — MR ( ) 5 17T WA C OMC ).
15 bt ( ) % 3. ( ) 12 /b 5.
n KK B Joro
FRUERZ ( ) AN, BEHESER A ( ) A, Rk Z ( ) A

3. fEOBIH | “+7 8 “- 7,
11>8 () 5 8( ) 7<9 16(_) 4=20 11() 3 =8
14 Q 5=9 14@ 10<8 12>6 Q 5 4:110 7

4 M6 T+ 8+ 15 PUANEL IR = ANEL, B PR YA R A T e

T R
b ééﬁ A
6. (£ FIMOMULE “>7 | “<” 5 “=
9+3 () 9 1+ () 15 7+8OIO 7+4() 6 +6
6:6 () 12 329 (1) 5 +7 144 ()1 - 4 52 ()10 - 7

= HEA T

14 +4 - 3= 18 - 8+2= 9+2+6= 6 +6 +6 =
16 - 10 +4 = 3+9+5= 9+4+5= 4+ 4 +4 =
11 - 9= 13 - 8= 12 - 8= 11 - 7= 13 - 5=
11 - 4= 11 - 7= 12 - 3= 11 -6= 13 -17=
11 - 3= 13 - 6= 12 - 5= 13 - 4= 12 - 6=

g 'E -
SRS ds, 0k, EIS, AR AT

% 15T, DAREESRAR



OS8R RN FENERSES o
ST, BRIk ESREATE

11 - 2 = 11 - 5= 12 - 4 = 11 - 8 = 11 - 9=

= BRI,

LT A = )
: v[lii j\ O :
Xk

2« JERA T T, HERT 6 X, BEAZOR?

() = ()

3. NEWT 5 AYEH, BT 3 A, NEERH S AR

O] | - )

Ay [FEAATERR 14 B/, C2R 1 10 8], e Z R /DRR?

O | - (#

5. [FZPATIAE S BEPHIA A48 1 8 T/, —3ddi 7 2 /D ?

Q = (T

FH ( ) 0 O ) o

O = (F)




ORI EF N FHENERSHES g

AR T, AREESAERR

1. 1, 5; 13; 9, 0; 13, 16, 18; 12, 7; 2.4, 1, 1; 3. -, -, + -,
-, -, +8{-, -y 4, 7+8 = 15, 8+7 =15, 15 - 7 =8, 15 - 8 =7;
5.8, 9, 13, 14, 15, 17, 18, 19, 20; 6. >, =, >, <, =, =, >, >,
—. HE/NGET. 15, 12, 17, 18, 10, 17, 18, 12,
2, 5,4, 4,8, 7, 4,9, 5,6, 8, 7,7,9, 6,9, 6,8, 3, 2
= fRRIA R
1. 8+4 +12 (A

2. 1+6

13 ()

3. 543 = 8 (M)

4. 14 - 10 = 4 (B

5. 8 +8 = 16 ([

6. 10, 19 - 9 = 10 (F)

7. 10 - 4 =6 (%)

BS e, T, B, BRI
% 19T, DAREESHEAE






